ECONOMICS

The foreign trade multiplier (K,) is equal to :

AX AX AS AY
@ Ki=%y ) Ke=7r © Ki=7y @ Kp=%%

If the values of MPS = 0.3 and MPM = 0.2 then an increase in exports by * 1,000 crores,
the raised national income through foreign trade multiplier will be :

(a) = 2,000 crores (b) * 3,000 crores (c) =+ 4,000 crores
(d) = 5,000 crores

The production and consumption loss due to imposition of tariff is jointly called
(a) dead-weight loss (b) revenue loss

(c) balance of payments deficit (d) terms of trade loss

A tariff that maximises the difference between the terms of trade gain and the dead weight
loss is called

(a) Retaliatory tariff (b) Optimum tariff

(c) Countervailing tariff (d) Double-column tariff

Which one of the following is not a non-tariff barrier ?
(a) Voluntary export restraint (b) Quota

(c) Advalorem tariff (d) Technical barriers

The EEC countries decided to limit the fluctuation in their currencies relative to each other
to a smaller band in 1973 is called

(a) Clean float (b) The snake in the tunnel
(c) Dirty float (d) Adjustable peg system

The Absorption Approach is developed by
(a) Sidney Alexander (b) Alfred Marshall
(c) A.Lerner (d) Jacob Viner

What is the period of new foreign trade policy of India ?
(a) 2012-2017 (b) 2013-2018 (c) 2014-2019 (d) 2015-2020

When accounting balance is produced with the help of accommodating transactions then it
is called

(a) Balance of Payment settlement (b) Balance of Payment adjustment
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(c) Both (a) and (b) (d) None of the above

&N
force SATIR oreh (K) SRS BT 2 -
AX AX AS AY
(a) Kf:ﬁ (b) Kf=m (c) Kf=m (d) Kf:&

afg MPS = 0.3 3R MPM = 0.2 &, a& ffai  * 1,000 &g it gfg T ama 7 fogsft
TR 0Tk o G Jhg T -
(@ “2,000HT8 (b) 3,000%US  (¢) “4000HTS () 5,000

TEHL o STRIVT § IcATeH AT TN BT i HIYF €9 & Hgd 3 :
(a) SMR@&d  (b) TS &I (c) WITAM HqeH 91T (d)  SATIR I g1

TR S TR I Gty TUT §d 9K (dead weight) BT o = T I ATUHhad L 7,
HEAI 3,

(a) WfcehRl deeht (b)  3TIRATH AR

(c) wHSarE! (Countervailing) dZeht (d) g —icm deat

freferfiaa § @ 9 e M-dem T i @ 7
(a) Voo Faia afdsme (b) I
(c) HATHER dehl (d) eRTehI STETd

33 (BEC) ¥ T 1973 H 1o+t hifaai i weh gt & amve fafem ot 1 us o vt 8§
Hifird T & Frof i wed &

(a) TS (clean) Tt (b) YUTH A (Fh §1 g T7A)
(c) TEe (dirty) feraT (d) FEEIT e (peg) Tureft
TN gfeeshior % g1 Torepfia fpam T 2 |

(a) ToreHt Teteiver (b)  3Tes HISA

() TaR (d) e aER

AR bl s farest s Hifq F) srafr s @ 2
(a) 2012-2017 (b) 2013-2018  (c) 2014-2019  (d) 2015—2020

TSl SI@Teh 1Y THAISHIT TiFeAT ohi FEIal § Tqfetd fohaT SITaT 7, 76 I8 haetldl & :
(a) YA S TiEEA (b) YA G qHTESH
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10.

11.

12.

13.

14.

15.

16.

17.

18.

(c) 3 (a) 3T (b) (d)  STIHT S T

A curve that goes through all the tangency points of an x and y isoquants in a Edgeworth-
Box is called

(a) Indifference curve (b) Trade indifference curve

(c) Offer curve (d) Contract curve

The optimum tariff rate for a tariff imposing country can be found by using the following
formula

e—1 e 1 1

R (© t=7 d t=7"7

(a) t=

According to monetary approach of Balance of Payments, the demand for money is a
stable function of

(a) income, prices and rate of interest

(b) income and prices

(c) prices and rate of interest

(d) income, prices and foreign exchange reserves

Which one the following terms of trade is considered by J.S. Mill in his trade theory ?
(a)  Gross barter terms of trade (b) Net barter terms of trade
(c) Income terms of trade (d) Utility terms of trade

The factor-intensity reversal takes place in case of Hecksher — Ohlin theorem when two
isoquants would

(a) cuteach other only once (b) cut each other more than once
(c) not cut each other (d) All of the above

Which one of the following BRICS Summit theme was ‘Building Responsive, Inclusive
and Collective Solution’ ?

(@ 6" Summit (b) 7™ Summit (c) 8" Summit (d 9" Summit

Producers’ surplus is equal to the difference between
(a) Price and Marginal cost curve (b) Price and Marginal utility curve
(c) Average cost and Marginal cost (d) Total cost and Marginal cost

A demand curve is considered as Rectangular Hyperbola when :
(@) e>1 (by e=1latallpoints(c) e<]l1 d e=0

When cost of production is zero, monopoly equilibrium will be established at a level where
elasticity of demand curve is :

(a)  Greater than one (b) Equal to one
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10.

11.

12.

13.

14.

15.

16.

17.

18.

(c) Less than one (d) Infinity
Teh a5k 1G9 st H x and y THATT I5h1 o aeft ot fargait & et oA B, w2
(a) IHRMEN I (b) SR IHRMM sk

(c) <ATH CRIEHEED

TR ITRTYT A TSl < h1 ITheTaw deehl g FTTRad F 1 TN L T h ST Tehelt
2

(a) t:e;1 b) t=T7 (©) t:% d) t:eil
T HdeT o Hifgeh gfSeehivl < STTER, g1 hl HiTT T, Teh fRR B & -

(a) 3T, hAd 3R =T (b) A I HHd

(c) hHHd M= X (d) M, hmd 3 faesh fafm woer
Frfafiaa @ @ 9 @ v SR w4 99.wF. et g o SR g A T R e R v
(a) Tl o]~ Tafm SR 31 (b) g T&-faf=m =

(c) 3T SR ¥ (d) ITTTET S=AUR 3

FRN-3NEA THT o T § I -TTEa] TdetHdT i Bid! & ST &l THHTT oIsh

(a) U GEY % helcl Ueh IR I (b) T GEX ! Tk § 3TfUeh I HIE
(€ THEHAFR (d) S aft

frfafga @ & fog & foem (BRICS) 9w o1 Wat fawar ‘wioeed, smmestt 3t anjfes
e o o
(a) BT (b) TAATIHET  (¢) ARAHHET  (d) T G

IcqTEeh T IR Tohteh d19 3T o SUSL BT 8 ?

(a) hd Ud HHT AT 95k (b) Hd Td HuT=d ITANATAT a6
(c) 37gd @NTd Ud HiHT=d «rTd (d) A ANTG T HH ATTA
Teh HIT I3k AATRR Afdaed d« 2idT & I -

@ e>1 (b) e= 1%+ fagai W

() ex<l1 d e=0

STel ITATCH ARTA I &, Al THITIRR H T 39 WL T ERT STal HiT o5 hl Al -
(2) THE AR (b) T % TR E
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19.

20.

21.

22.

23.

24.

25.

26.

c) THHABAR (d) SHawE

The price of a commodity X in perfect competition is * 25. What will be the marginal
revenue of selling 200" unit ?

(@ =25 (b) - 5,000 (c) - 80 d - 225

If the total production in an economy for a product is produced by a few big firms, then
this market is known as :

(a) Monopolistic Competition (b) Oligopoly
(c) Duopoly (d) Discriminating Monopoly

“Natural Monopoly” is the monopoly

(a)  which is provided by nature.

(b)  which needs large amount of capital.

(c) when there is only one producer.

(d) when average costs declines with increase in output.

In case of a Giffen good :

(a) Positive income effect is stronger than the negative substitution effect.
(b) Negative income effect is weaker than the positive substitution effect.
(c) Negative income effect is stronger than the positive substitution effect.
(d) Positive income effect is weaker than the negative substitution effect.

A Pareto optimal organisation is one in which
(a) Economic efficiency prevails.
(b) Any reorganisation keeps the utility of all individuals unchanged.

(c) Any reorganisation that augments the utility of an individual necessarily reduces
utility of another.

(d) Dboth (a) and (b).

The burden of a tax on the consumer will be greater than producer if
(a) Demand is more elastic (b) Demand is more inelastic
(c) Supply is more elastic (d) None of the above

When average cost is increasing, marginal cost is
(a) Equal to average cost (b) Less than average cost
(c) Greater than average cost (d) Uncertain

A firm should cease production in the short run if
(a) Price is less than average fixed cost (b) Price is less than average cost
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19.

20.

21.

22,

23.

24.

25.

26.

(c) Profits are negative (d) Price is less than average variable cost
ot gfeRnfirar & X awq st hmd * 25 7 | 200 318 <ht fersht & T st @ B 7
(a 25 (b) 75,000 (c) "80 (d °225

e fopet Sreieawen 4 forelt awq 1 aryut IcaTeH H® 9t BT gRT TSRl SITaT B df STeR <hl 98
e == weardt 7 ?

(a) UEHIRRICH STl (b) TR

(c) BATUHR (d) fordiernes TR R

“TATTieTeh TehTTeIehR” 8 UshI[Ueh L & —

(a) S Thfd e R | (b) ot srferes ot o am <A1 StTavEhdr & |
(c) T8 hadl Ueh IcqTeehdl &l | (d) T 3cqTeH 5G4 o {1 3NEd ANTd ged! |
firftht o o wreel o -

(a) EFTCHeh 37T JNTd SHUMTcHeb T JUTe 6l i1 H Jeiet BT 8 |
(b)  FRUTTCHS 3T THTE FHHSIR BIAT & STUThd ITH T JHTE o |
(c) RUTCH 3T THTE YA BIT & STH&ITRA HTcHe TAHTI TS o |
(d) GHTCTh 3T TWTE HESIR BT 8 STUEIThd RO ST JHTE o |

NI FheTad e I & o

(a) 3o Pyreran B R |

(b) Toreft oft qvia & wvit saferaat <At SwRIfivn srafetda @ @ |

(c) Toreht oft grfam @ forelt weh safa <t swafirar & afg &t 2 o fereft 3= <t sw=ifiran &
Sl 3SR |

(d) (a) 3R (b) ST

Teh T hl W STHTERAT T 3cTesh H AfIeh B1, IS

(a) HIT ek AeER 2 | (b) HiT 37fereh SR 2 |
(c) Yfe 3tfereh SA=reR 2 | (d) U H | HIE T4 |

STe 37 ST § gfg &1 @ al a1 e T

(a) 3TEd NI o SO 2 | (b) FHUIATAEFHE |

(c) 3iEd o d 3Reh 2 | d) R

Teh %Y i JTTehTd § 3cITeT S ol ol IT8T Ifc
(a) hHd 3NEd RE AT A FA B | (b) HHd 3NEd AT A HA B |
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27.

28.

29.

30.

31.

32.

33.

34.

3s.

36.

37.

38.

(c) WY RUMTcH &l | (d) HHd 3T TN AFTd § 6 &

Engel’s curve illustrates the relationship between
(a) Consumption and Utility (b)  Production and Productivity
(c) Income and Consumption (d) Income and Production

If total revenue rises when price falls, the demand curve is
(a) Elastic (b)  Unitary elastic (c) Inelastic (d) None of the above

A movement along the supply curve can be caused by a change in
(a) Technology (b)  Factor prices
(c) The price of the good (d) All of these

An indifference curve indicates
(a) No choice among goods (b) No need of any good
(c) Disinterested in acceptance of goods (d) One combination is preferred to another

According to W.W. Rostow, the stages of economic growth are :
@ 5 (b) 4 (¢ 3 (d 2

Second Five Year Plan was based on the model developed by
(a) A.K. Sen (b) C.H. Hanumantha Rao
(c) P.C. Mahalnobis (d) K.N.Raj

Vicious circle of poverty should be broken for economic development. This fact has been
emphasised by :

(a) Ragnar Nurkse (b) Lewis (c) Rosenstein (d) Singer
‘Wage Fund Theory’ has been given by

(a) Adam Smith (b) Malthus (c) Ricardo (d J.S.Mill
The credit of developing the concept of modern economic growth goes to

(a) Gunnar Myrdal (b) Adam Smith (c) Simon Kuznets (d) Todaro

Who is the founder of Human Development Index ?
(a) Dr. ManMohan Singh (b) Mahboob-ul-Haq
(¢c) Adam Smith (d) Rajeev Gandhi

Disguised unemployment exists mainly in
(a) Underdeveloped countries (b) Developed countries
(c) Socialist countries (d) None of these

Unbalanced Theory of Growth was propounded by
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27.

28.

29.

30.

31.

32.

33.

34.

3s.

36.

37.

38.

(a) Singer (b) Hirschman (c) W.W.Rostow (d) Kindleberger
TS a5k e O 9 fopaes offe Ty wse st g 7

(a) U U ST (b) IS TS IcTCShdl

(c) 3T Td I9HM (d) 79 T 3TE

Jfe T T2 W FoT TN F&dT 8 dl T dsh Har g ?
(a) <EER (b) IHFEAMEK  (c) AR (d) ST H ¥ His T

it s § Terer e R & BT R -
(a) SENRER! (b) |TEA HIHd (c) I HIHHA (d) I aeft

TEEAT sk ST HLAT B

(a) TEG3I & o= TS T 3197 (b)  Tereft +ft o shi STTarTIhar gl
(c) TN WA | &< 1 39T (d) T HANT o YhTeel g

T T50Y, UG o ITTAR ST Ffg hi TaeAmd 2 -

(@ 5 (b) 4 () 3 (d 2

et vt JieT formes g foerfd diger 9T smefi off 7
(a) T T (b)y TW.E. THaUd (c) WL.H. HEOEIGE (d) .. TS

“STeien forehtel o TS o GSash i dieAT ATeY”, 38 e &I - 1 & fope a1t feam ¢

(a) UHARTHE  (b) o™ © TSEH d) far
‘TSl 1y Tigra’ ferereh grT fezn T @ 2
(a) TUeH fary (b) HoUH (c) Tewrel (d .ug. i

amegfereh 3Tk ferehra % foram it forerfirg e =61 3 frer 8 & fpmem ST 2 2
(a) TMEa (b)) veHfoy (c) TEEAFHIH (d) 2el

TG fIehTd g’ 1 Sh hH B 7
(a) o FHEAE (b) WeE-3A-gH (c) USH oY (d) Trfta et

3T¥ SUSHTRY & el areft Sireft 2 2

(a) 3Tcqfaehiyd sl o (b) Toehfea Tsei &
(c) HAETE U | (d) 3 I3 TE
forpra o1 STgfeTa fagr=a fepmreh g wfcramfea fepem w7
(a) TR (b) BYEA
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40.

41.

42.

43.

44.

45.

46.

47.

48.

49.

50.

(c) T T IRE d) frsaai
Big Push Theory lays emphasis on

(a) Big Investment Sector (b)  Agricultural sector
(c) Technical sector (d) None of these

The concept of ‘Golden Age’ is related to
(a) Harrod (b) Domar (¢) Ricardo (d) Joan Robinson

Input — Output technique was invented by
(a) Lewis (b) Hicks (c) Todaro (d) Leontief

Solow’s model of Economic Growth in India is
(a) Fully applicable (b) Not applicable
(c) Partially applicable (d) None of these

Kaldor’s model of Economic Growth is not applicable in :
(a) Undeveloped countries (b) Developing countries
(c) Backward countries (d) Developed countries

“Rise of population is an obstacle to economic development.” This statement was given by
(a) Malthus (b)  Singer (c) Nurkse (d) Meiers

The idea of Economic planning in its present form, for the first time came in :
(a) 1920 (b) 1928 (c) 1934 (d) 1937

Which average is affected most by extreme observations ?
(a) Mode (b) Median (¢) Arithmetic mean (d) Geometric mean

In which distribution mean and variance are equal ?
(a) Binomial (b) Normal (c) Poisson (d) None of these

When the population under investigation is perishable, we should use the
(a) Census method (b) Sample method
(c) Both Census and Sample (d) Neither Census nor Sample

The calculated value of Chi-Square is
(a) Always positive (b) Always negative
(c) Either positive or negative (d) None of the above

The Geometric Mean of two numbers 8 and 18 shall be

Series-A 10 SPU-05



39.

40.

41.

42.

43.

44.

45.

46.

47.

48.

49.

50.

(a 8 (b) 11 © 12 d 14
oS g 1 g fra mea et g 7
(a) SSFEMEIW (b)) HWETW (c) THATH &AW (d) T8 | IS T&

TR ST STaeron fhTe wrEfRa R 7

(@) B (b) R ) Tl (d) T qfeEa
3AmTa-ffa denier <6 @i fordeh g <Al 78 7

(a) ofem (b) fe=m (c) J=sW ) fod®
WA | FIel b1 3 gfg wisd

(a) Yoid: AREMTR | (b) TRTE @R |

(c) 3IMh &9 4 A M1 ¢ | (d) TTH T RIS L

3k gfg 1 hiost Higet el AN &l grar ?

(a) FAforepfed gl | (b) Rrerasier Tt &

) Tssusid @) fowfausid

“STEEAT Rl ST 3T Tehtd O 31y 27 I8 %A forgehr @ 7

(a) WeH (b) far (c) o8 (d TIE
3Tifeh FreIST w1 foa, 3ok SuH &Y |, TayeH 37T -

(@) 1920 (b) 1928 (©) 1934 d 1937
SHIF | AT T o1 § itk I9Tfd glar 8 ?

(a) wgAh (b) HEH (c) EHR HI (d) TUTRR H1ET
PN H T o WL 3TN TH0T SSL B & 7

(@) Tgug (b) S (c) uEEd (d) T B AR
ST LI fohT ST STeAT 0T TR 81 a1 86 T ST |Tiey

(a) ToET Gfa (b) Tfcest Gfa

(c) QI WTUMT Ua Wigst (d) ¥ FE, 7 g whiedt
W@—aﬁwuﬁﬁmq@‘@m%

(a) Hel gqTcH (b) HeI U

(c) ot eeTeTes et wuTTeHes (d) 3T | hIS T&I

Tl 37ehi 8 37 18 =T TUTITR [T feheT BT 2
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52,

53.

54.

SS.

56.

57.

58.

59.

60.

61.

62.

63.

(@ 8 (b) 11 (c) 12 d 14
If the MPC is zero, the value of multiplier will be
(@ 0 (b) 2 () 1 (d 4

The roots of quadratic equation x? + 3x — 18 = 0 are
(a 6,3 (b) -6,3 (c) -6,-3 d 6,-3

The probability of getting at least two heads in a simultaneous throw of three coins is
(@ 1/4 (b)y 12 (c) 1/8 (d 173

In case of two variables there will be only one regression line if
(@ r=0 (b) r=+1 c) r=-1 d r=+1

Two events A and B are mutually exclusive : P(A) = 1/5 and P(B) = 1/3, then, probability
that neither A nor B will occur would be

(@ 9/15 (b) 8/15 (c) 715 (d) ©6/15

What kind of public revenue is fees ?
(a) Tax Revenue (b) Non Tax Revenue
(c) Both (a) and (b) (d) None of the above

Transfer of Tax burden from one person to second person is called
(@) Tax Impact (b) Tax Shifting (¢c) TaxIncidence (d) None of the above

The principle of Maximum Social Advantage is related to
(a) Public Expenditure (b) Public Revenue
(c) Both (a) and (b) (d) None of the above

Which one of the following is not a tool of fiscal policy ?
(a) Deficit financing (b) Public Debt policy
(c) Interest rate policy (d) Tax policy

Deficit financing leads to
(a) Pricerise (b)  Price fall (c)  Price control (d) None of the above

Zero base budgeting was adopted in India in the year
(a) 1957-58 (b) 1967-68 (c) 1977-78 (d) 1987-88

Who propounded the concept of functional finance ?
(@) A.P.Lerner (b) Keynes (c) Musgrave (d) Smith

Indian Tax System is
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S1.

52,

53.

54.

SS.

56.

57.

58.

59.

60.

61.

62.

(a) Proportional (b) Progressive (c) Regressive (d)

afe wa.dt. = 3= 81 T 1 g B

(@ 0 (b) 2 c© 1 d
U g afieor a2 + 3x - 18 =0 HF A & -
(@ 6,3 (b) -6,3 (c) —-6,-3 (d)
1 Tirarnl w1 Uk 91 ek T A Y ¢l IY 37 Skl ITRehdr B -

1 1 1

L L - d
(a) 2 (b) 5 (©) 2 (d
2 = 6l feafa 4 et v & gdiwmea W gt S -
@ r=0 (b) r=+I1 (c) r=-1 (d)

Degressive

W | —

r==x1

aWﬁAHWBWWﬁézP(A):%WP(B):%,?ﬁ,:{?ﬁAW:{B%HﬁHEﬁﬁ

61 gTRReRar gt —
9 8 7
(a) 5 (b) 5 (c) 5 (d)

oo fohT YT T WATeh 3T B 7
(a) I (b) - A™ (c) THI(a)3MW(b) ()

T fad § qHL SATe T HT AR 6 ST ! had & -
(a) HUEd (b) = foada (c) UM (d)

FTfrehaw TR T 1 faga Trafd & -
(a) THSETT (b)) ARATHT  (¢) <Hi(2)IDB) T (d)

=1 1 @ i =1 Ueteh I ifd w1 T S AR B 7

(a) =S <h Ty rereen (b) TSI T Hifd
(c) == e Hifa @) Al
H1e <) ford e st @ -

(a) HHAgLg  (b) hHHdREL (c) <hiHa = (d)

WA § I STYR 1€ ohe a8 H 31911 727 7
(a) 19571958 (b) 19671968  (c) 1977-1978  (d)

HTqeh T <ht aron feree gfaarfea <61 2
() I R (b) &4 (c) wEId (d)

SPU-05 13

6

15

I | Y IS AL

U | Y IS AL

U | Y IS AL

I | H IS T

1987 — 1988

fary

Series-A



63.

64.

65.

66.

67.

68.

69.

70.

71.

72.

73.

AT <hL 0T & —

(a) UG (b) SATfaRfd (c) Sfcmmreft (d) AT
VAT system was first initiated in
(a) India (b) France (c) Germany (d) TItaly

Which one of the following is not a regular source of public revenue ?
(a) Commercial revenue (b) Administrative revenue
(c) Taxation (d) Gifts and Grants

Who propounded the principle of minimum sacrifice ?
(@) J.K.Mehta (b) Edgeworth (c) Taylor (d) Dalton

Peacock — Weisman Hypothesis relates to
(a) increasing public expenditure (b) decreasing public expenditure
(c) constant public expenditure (d) All of the above

Which expenditure is not included in Income — Expenditure statement ?
(a) Expenditure on salaries

(b) Expenditure on grants

(c) Expenditure on public enterprises investment

(d) Expenditure on interest payment on borrowings

The Diffusion theory in Taxation was given by
(a) Adam Smith (b) Seligman
(c) Findlay Shirras (d) Mansfield and Canard

If per unit tax is imposed, then which curve will shift upward ?
(a) Average cost curve (b) Marginal cost curve
(c) Fixed cost curve (d) Both (a) and (b)

The Ratchet Effect is given by
(a) Milton Friedman (b) J.M. Keynes
(c) Robert Lucas (d) Duesenberry

Transmission Mechanism of Money Supply in Tobin’s “Q” theory is through
(a) Rate of interest (b) Direct purchasing
(c)  Share prices (d) Consumption effect

Chicago School of Economics believes that
(a) Money supply should be stabilised
(b) Fiscal policy is more important

Series-A 14
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64.

65.

66.

67.

68.

69.

70.

71.

72.

73.

(c) Discriminatory monetary policy should be used
(d) Economy should be regulated by government

T 9 JUITel! el IR 58 7
(a) WRd (b) W (c) AT (d) seeft

=1 1 9 S g1 U w7 w1 i g T8 @ v

(a) TUST ATH (b) JINITEMS AWH (c)  HUII (d) 3YER 3R LA
[FH W 1 Rrgr=a feher faurfea femam 2
(a) SL.%.Fgal (b) UTAAd (c) W (d) Sleed

frenTeh—aTsHH TiehedT forod TrafRa g ?
() FeAT AT (b) TATAR T (¢) TRRABET  (d) Ul ot

I 91 T -39 g H 3 8] fopan g ?

(a) o WT (b) IFEH W

(c) s a4 fFow W= (d) VN T SIS YIAH 1

ST H JET fagia ferees g feanman g 7

(a) TUeH fony (b) afermEA (c) Tt i (d) AHEeS 9T HAS
Ife gfd ghts T STRIUT L a1 i |1 Ik FU <hl AR THTANT BT 7

(a) 3AEd AT 95 (b) HHI AN 95

(c) TRRATETH (d) I (a) AT (b)

CIECLBEICS (Ratchet Effect) IEED FLRCRIRIET 27
(a) Tecahigsd (b) .wH. &4 () TS THiE (d) SToEd

fer % o (‘Q*) Targra o W1 gt kY weror wfsha fensreh gru B 8 7
(a) FENEEU (b)) TIATIGHI G (c) IMHWAGN  (d)  STHN T9TE gHT

31T o TR Tepet bt forwarmar 2 o6

(a) g1 qfd | Tiica gHT =T |
(b) Tt fifer 3feres TEaqUl 7 |
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74.

75.

76.

77.

78.

79.

80.

81.

(c) Toaverarss wifge ifa = § o =t |
(d) TTHR gRT AT FHI9= g1 =few |

Under classical assumptions the aggregate supply curve of an economy is
(a) Upward sloping (b) Downward sloping
(c) Horizontal line (d) Vertical line

Okun’s law shows the relationship between the following :
(@) Unemployment and Growth (b) Employment and Growth

(c) Tax rate and Tax revenue (d) Inflation and Employment

Milton Friedman gave emphasis in his quantity theory of money on
(a) Production and Income (b) Price level
(c) Supply of Money (d) Demand for Money

A Deflator is a technique of

(a)  Adjusting for changes in commodities
(b)  Accounting for increase in GNP

(c) Accounting for decrease in GNP

(d) Adjusting for changes in price level

Under Keynesian Liquidity Trap conditions an increase in money supply will
(a) Reduce the rate of interest

(b) Increase investment spending

(c) Have no effect on interest rate, investment and employment

(d) Increase the level of employment

High powered Money consists of

(a) currency in circulation and bankers’ deposit with Central bank.
(b)  Currency with public and demand deposits with banks.

(c) Fixed deposits minus demand deposits.

(d) Money created by Commercial banks.

Out the odd :
(a) Bank Rate (b) Cash Reserve Ratio
(c) Statutory Liquidity Ratio (d) Call Money Rate

Money is said to be neutral if
(a) it affects the real variables of the economy.
(b) itdoes not affect the real variables of the economy.
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(c) it affects only the production.
(d) it affects both production & employment.

74. FATREEH! AT o STTHR Teh STASIAET 1 oA I 5 &

(a) S I I e foTw gU (b) = A AR T
(c) & @ d) EEd @l

75. 3o w1 frem frafaiad = e gy sarar g
(a) SRS Ud ¥9fg (b) USATR Ud ¥gfg
(c) HLhH T R Ta (d) T TR Td TR

76. fiee shigha 3 319 g1 i firgia # fore ot srer femm 2
(a) 3T qUT 3™ (b) HIHd &R
(c) HETehIgfd (d) Fgrhram

77.  ATEhifes Tsh dehieh & il :
(a) TG H Uiae ol TR FA 2 | (b)) GNP § gfg T TG-S el 2 |
(c) GNPHHHM HI G-I HATE | (d) hIHd T o IR T THATSH i 2 |

78. o= o ateTal SITe <hl FRAfd § qgT qfd § JRg B &
(a) AT S e EFA |
(b) Taw =@ o gig grft |
(c) =N T, e vd TSR # hig IWTE & e |
(d) TUSTIR T &R g ST |

79. 3= wfad g1 H AiFAford & -
(a) T H L o Sheg 1T Soh o YT Siohl oh! STHT
(b) ST % ITH LT TUT Sehl o UTE HIT STHT
(c) T ST § © T " ST
(d) SIS Sehl G AT 1 G

80. 3T ! ATEL HIFT

(a) Sl (b)  Tohg HINTIITA
(c)  eeITl+Teh AT JFATA (d) @A

81. g h! ALY el AT @ afe
(a) T8 TSI & Arfereh T oh! YTfed ot |
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82.

83.

84.

85.

86.

87.

88.

89.

90.

(b) T8 AT & Arfereh T bl THTferd T L |
(c) T8 hacl IcdTe hl THTTeId ot |
(d) I8 3cTeH 3T TSR ST bl JTferd ht |

The value of multiplier is always equal to one in case of :
(a@) Money multiplier (b)  Simple multiplier
(¢)  Super multiplier (d) Balanced Budget Multiplier

Which of the following is more effective in controlling cyclical fluctuations in an economy ?
(a) Monetary measures (b) Fiscal measures
(c) Direct controls (d) All the above to be taken together

Which one of the following does not cause a shift in aggregate demand ?
(a) Consumption (b) Imports (c) Prices (d) Investment

Which one of the following is not correct about Business cycles ?
(a)  The fluctuations are wave like movements.

(b) The fluctuations are recurrent in nature.

(c) The upswings and downswings are cumulative in their effects.

(d) The upswings and downswings are seasonal in nature.

According to Rational Expectation Theory, government’s anticipated policy will
(a) fool some of the people all of the time.

(b) fool all of the people some of the time.

(¢) Never fool anybody.

(d) Fool all of the people all of the time.

The difference between the GNP and GDP is because of
(a) Gross Foreign Investment (b) Exports and Imports
(c) Net factor Income from abroad (d) Both (a) and (b)

The Chairperson of GST council is
(a) Prime Minister (b) Union Finance Minister

(c) Chairman of Finance Commission  (d) None of these

What is the maximum rate of tax in GST (Goods and Services Tax) in India ?
(a) 22% (b) 24% (c) 26% (d 28%

Which one of the following schemes has been abolished in the Union Budget 2017-18 ?
(a) Advance Authorization Scheme (b) Duty Free Import Authorization Scheme
(c) Special Economic Zone Scheme (d) Export Promotion Capital Goods Scheme
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91. The Government of India has fixed the inflation target of 4 percent for the period of
(a) 2014-2019 (b) 2015-2020 (c) 2016-2021 (d) 2017-2022
82. T[UTeh I T EHIM Ueh il 3 fre o fopmr ferfar o 2

(a) WGHIH  (b) T Th (c) 3 TR (d) T SoIe O

83. Ueh JTUHIEAT H TshiT ST ohl (I i | 1 § § i STeT gHEed] & ?
(a) Hifgeh U (b) USHINT U™
(c) g fsm (d) 3T Gt Sl Th TY AR HAT

84. T 1 9 %19 u g9y 7 1 & Rgwermar g ?
(a) NI (b) I (c) <himd (d) Trew

85. e T & I Uk TR <okl o T 1 Wl T E 7
(a) FIoh AT ST&ll & A AT Bl & | (b)  $Ioh Searare YAla| TdTd o 8 & |
(c) TR AAINWE S ITETTANEAE | (d) TS qUT IqUa TWHTE § HiFH 8id & |

86. faaensfiel Temen fagra o STTHR TR <l Jeira Hifd gl -
(a) O AN bl EHAT @ &1 Thel! 2 |
(b) TS AT ! FB T o I T &7 HehelT 7 |
(c) Tereht =l g@ & o1 Thclt |
(d) @t T Bl @t T % fore P s Tk R |

87. GNP 31 GDP H 3= &1 R 2 :

(a) Hohat Toreeft Fremt (b) Torrid wa srmama
(c) Torcw & g wra I (d) T (a) T (b)
88. Sfi.w@.dl. yftwe (if=aeT) o1 AL BT @ -
(a) TaEE (b) o fom ot
(c) o smam =1 Jreme (d) T I HiE &S
89. W T Sf.wd. &l (SRd e Famd oY) H Afershay HHI TS ?
(@) 22% (b)  24% ) 26% d 28%
90. fraferfaa & & 61 o o FEfi s9e-2017-18 | 99T HL A TS ?
(a) B s dsm (b) Yok GeRd STRIT ST AT
(c) Tafme amfdies &= =em (d) TTa Sicarea ISiTa seg e
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91.

92.

93.

9.

9s.

96.

97.

98.

99.

100.

YId R 3 YgT-Thifd o1 oiex fopm 3rafer & fow 4 wfaea wan 8 2

(a) 2014-2019 (b) 2015-2020 (c) 2016-2021 (d) 2017-2022
The AMRUT Scheme was launched in India in June 2015 :

(@) To improve basic urban infrastructure

(b) For holistic development of heritage cities

(c) To make the country clean

(d) None of these

When was National Agriculture Policy announced in India ?

(a)  July 2000 (b)  August 2002 (¢) July 2004 (d) April 2005

Total food grains in India excludes
(a) Rice (b) Pulses (c) Wheat (d) Soyabean

In India, Hindu Growth Rate is related to growth rate of
(a) Literacy (b) Population (c) PerCapita Income (d) GNP

Highest contribution to GDP in India is from
(a) Primary sector (b)  Secondary sector

(c) Tertiary sector (d) None of the above

Rural / Urban population ratio in India as per Census 2011 is :

(a) 72.85:27.14 (b) 68.85:31.14 (c) 66.85:33.14 (d) None of the above

What is the decadal growth rate of population in India as per Census 2011 ?
(a 17.72 (b) 21.72 (c) 18.72 (d) 20.72

The apex institution of finance for small industries is
(a) IDBI (b) ICICI (c) SIDBI (d) NABARD

Net factor Income from abroad in estimation of GNP in India has been
(a) always negative

(b) always positive
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(c) sometimes negative and sometimes positive

(d) Not known
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92.

93.

9.

9s.

96.

97.

98.

99.

100.

WA | 319 (AMRUT) AT S 2015 # fopd fote 3 <6t 78 2
(a) SITERA &0 YT GIR (b) &L IT&l <1 w9y faeemd
(c) 3 I TeD FAM (d) IR IS T

IR | TS iy fifer 1 wvwon e H1 T 7
(a) SEIS2000 (b) 3T 2002 (c) SIS 2004 (d) 31 2005
W % Hel W=t # Ig witfora 7a 2 -
(a) =T (b) <l ) T (d) FEEH

i kg afg mafg wa v ag 2
(a) HTERAT (b) SHEE (c) Y=fR ™ (d) el UL 3G

VIR % Tehel TR 3cUTe § Taifersh AanTeH 3 § & foraem 2 ¢
(a) TEHaF (b)) Tedius am (c) Tk & (d) STw § F B TE

2011 T SFITUHT % STTER TTHIOT-IT6R STHEET 319914 & -
(a) 72.85:27.14 (b) 68.85:31.14 (c) 66.85:33.14 (d) 3uIF H W HIE &l

2011 I SFRTUMAT % STTER YA H SHEE i gl gfg s g 7

(a) 17.72 (b) 21.72 (c) 18.72 (d 20.72
T S ¥ e fore <61 e wreen 2
(a) IDBI (b) ICICI (c) SIDBI (d) NABARD

A shl GNP o 3TTehetd B fIeer & UTed I F1eM 39 W R -
(a) U HUMHb (b) EHI THTHS
OEEIE IR EC BRI (d) ddar-aEl
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Space For Rough Work / % % % foTu ST
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